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���9���
	���9$�$�:2�����;*	�<�=>#���	���	����?�	�5�	������ �����@�6��!>�6.����6*��9���=��+��	�	��,�.�	�

�:2��5���$�,�.�	����9���5��/$��	��!>�.����*��9����	����*�;������2��(��

���9�����A�$��	:>�������X��9����y�5��/$�
�:'�,B�*��:2��C����5��/$�	�yD��$x�������6����6E�C	�:6������6F��

���9������x�7:2�	����:C	�������F���%'�������9��y�@��	�:2���2����

������������	��� ���	

�G���������� ���H�.C	�<�D��$�����5���	��	�������� ��I��8�JKLL�%<� �	�'�7��8��	�����(���M�,���
�����	

�������������,6������	�6<	�:6'�D6�����,6��%6F ���,6��@�	�6 �%6��'�:62"��5�:6�	���	�7:6��:������������:'�,���	����FC

��	�(	����9�������2���@���:2�N�<�	��������������� ��I��8����	���-�����9���=��+��	( 

	!"#$%&'�(��)�*�������������

���	���-�./�*�0��1�����?��)C�,
�	������� �(����	���-�6./�*�0��61�:6��������� ��I�OC	��	���,���2���5�:�

�����,/��#�(�%�	�
��P�5�	������2$Q%�	�������-�./�*Q�,���
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• ��*�7�	��@O2��R
��������	�,"P�<

��2&$���9���,��	����CN����S�:���Q3���5�	�=>#$�I:��
��P���T(dumy variable���C�!�:/$( 

• ,�.�	����*��9���U���$������G���C

!-.��������

• ��?�%�	��	�,"P�<�@O2��R
�����V�����,������N�7:�W�����*���2?$�	(

�����!-.��������

• !>�.����9�������	:>��X��	���,�.�	����9������	:>���2���@��

• �7��9���:2B������ �

• �,�.�	����9������
	���9$����!>�.����9���:2B���������<�������%���F��!�"#$

!-.���������+�'�/*�

• �4�����)�*TEnter method�Y

• �I� �,��I� �4��TStepwise method�Y

• �Z[S�4��TRemove method�Y

• 7:C���H��4��TBackward method Y

• 7:C���@���4��TForward method�Y

���0&'�/*�1Enter method2

���*��9���,�"����A�$��$�:C������G:����	�����)�*���+�,��!>�.����*��9���,�"��4���5�	�����;6�����\���;��

��� �]^F��,�.�	����9����(��
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� �#34

���,�6.�	���6�9�����������-�./�*�0��1�,��,��$���:���*���9�������$���B�,��%.CN�4���5�	�!?F�

Q�%.�C�	���2���,��������������_S�,��;*����*��9���5�	���2�Q�:C������,��������	��:2C�������'��(

5������5���/*�1Stepwise method�2� �

� �4��:2C���4���5�	Forward�:2�����G:����	�����,�����	���*��9����

� �:2�����`�^�C	���	��,�.�	����9������	���-�./�*�5���F���,�����9���	:��	(��

� �������N�6��I:6>���6�9����6�?8$��	�H6��,��%�	����9��Q��������!�"#$���	��,�����9���5����

�0��1��	:>�����@�	)<	�5���F���0���Q�5���$TR
2�Y������(��

� ���9�����	���2���,��;�*�����I�OC	��C����$������,�����	��G:��,���*��9�������Q�4���5�	��

�,�ab�:����:P���������c'����
��"���Hd�e(

� �����I:6>����6*��9���%���6F���6�?8$��	�H��,��:2C�������'������*��9��������9���,"S���*���

�*���[O��5���F����	�	���*��N����-�./TR�Y:2���(

� �����N����,"S���*���	����4���5�	��F��������7:�O2�(

� �#34

° ����6��4���56�	�f�<Forward����4�����,6��%6�	��N���Forward�������7:6����	����6*��9��

�4���������Q�:2C�������'���,������!�"#$Stepwise����9����������Q����,6�����6*��9���:6�:�

�C��	�:C	�7:��,��������	��g/'����������6*��N��6_S�;6*���62*���N�����]^F���$�:C������7����N

,C���:2����������N�%�><���,�Q�G:�(

�678�/*�1Remove method�2� �

� ����Z[S��C���� ��G:���		��h�"�������*��9����	�$����4���5�	���(
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� �������,��h�"��5���	�4����	�2��,���	�$���C�	��4���5�	(�*��9���%.�������	�������

d���:C���G:����	���"/'���*�h�"���	��?�H���4���56�	�`�^�C	�����:��������"����

���C�Z[S�	��*��N( 

� �#34 

:*����C�I�OC	�	��HC���	��!�"#$���B�Q��	:C�7��9���:2B������ ������C	:2B��������4���5�	(��

��4*��9:�/*��!;���<��1Backward method 2��

� �4���:2C��*�4���5�	��Enter������������6*��9���,6�"���6A	���7:6��,6��������	��!>�.����*��9���,�"��	:��	Q

�������7:�O2��,�.�	���9��( 

� 4���ZgM�� Enter���-����	�H���?���$�A	�;����$�c��1���*��9��������,��4���5�	��Q�i��M�,�������	

��2�������N���
M�,��:�������,�	�	��C����$�,"S���5�	�%���C�����7:��,����	�Jj:���:P��( 

�/*�*�=�:1Forward method 2��

� �:2C�������'�������C�,�����������:C������,�M�2��;�����*��9���%��S�5�	���7:C���@���4��� 

� �����:62���6��,/6��#��,�6.�	����9������	��!>�.����*��9����	����*�5���7�����-�./�*�	:��	�4���5�	

(�5���F���,���">�.����9���Hd����������	:6>��5���6F����$��6/��,6������	��,�6.�	���9����6��	���-�6./�*

:2�����!�"#$���	�Q�:2�����5��/$�	���N�HC���	�( 

� ���	��,�����9���5����$����0��61�5���6F���G�	��6�9�����?8$��	�H��,��%�	����9��Q��������!�"#

��	��,�.�	���9������	���-�./�*( 

� M�,����	��,�	�	��C����$�4���5�	
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�4���:2C��*�7:�N�%���,��k���CStepwise�:���������.?�����5�	�����M��.8$�7�#C�5�	���2�Q:������( 

 

������!-.��������>���?#�*�1Simple Linear Regression�2 

• ��9����������>�Q������ ��l�C�5�	���T�,�.�	��� y�Y�-�����9�������>������	T����!>�.�X �Y�����,�

����������N����
M�,��������( 

• ��	��	�������"��!?��,������5�	m��

Y
'
=b0+b1(x1) 

 

�,�Y
'7:����N���	:>�yQ b0	:/���	�n��T������ ��%��A�	:>�YQ��

b1�,��	��0��1T������ ��0��1Y��x1�%�	�G�	���9��( 
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J��	:��	�����Analyze>Regression>linear…�;�2����	��		�( 
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o�,�.�	���9�� ������	�	�Dependent�!>�.���9����������	�	�Independent�2����;�.��
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p��,66���Statistic�����66*�,662�) ���7��66���66�"�	�Estimate ��Model fit�%�66.'��	�Regression 

coefficient��,����������Hd����`�^�C	continue��;�2�������"�T����6��;�C	�6$����%�.'�5�	����5�2W�*
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:�2��G��<(��

����������
��	���������9$�5�-C����,2�) �5�	�
���!>�.����9�����������;����������,<�1	����,��	�

:*�����@���CQ�:�	���������,������� ��,������	(��

���
���������������7:��`�^�C	���*���9���I��$�������Z	�#C	��5�-C����,2�) �5�	$��,q	�	�	���-�./�*�H�

�:*������

������	���������
���������	���) �5�	���-�./�*�,��:2�����,/��#�� 	���-�./�*�0�	�1��	���	�C	�,2

:2��������� �7�	:C	�!>�.����*���9���������A	�,��,��$����	��!>�.���,�.�	����9�����5����

�����	������� ����	����
����� :2B� ����� ���� ,2�) � 5�	������� �	��� 	�� ����	�� 7���	� 5�:2B� ,C� 
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�����	� ����	���2���@�������>���7:FC��7:����	:C���	���*�7:C���'����	����8�P�$���*�7���	�,2�) �5�	

�:2�����,q	�	�7:���

(�7���	�5�	���7�g������	�! ����	������,q	�	��:2�������� �7�	:C		���*�7:C���'���5���G������-�./�*�,�
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�,���plots����7������"��	���"P	�������SRESID��,�6.�	����9����	�2��,��	�TYY��*ZPRED����	�62��,6��	�

�!>�.����9��TXY�;�62�����`�^�C	(�������6*�,62�) Q����6��5�6�*��Histogram��Normal probility plot�

�,��:������Hd����`�^�C		�continue�;�2�������"�(��
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�#�������,�.�	����9����	���7:����	:C���	�7:���2���@�������>���

#��������7:����	:C���	�7:C���'����
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��$��������,/��#�� �	� ,�����-2*�,C��C� 7:���2���@��� ����>�Q� 7:�� 7:��!�:�$� 7:���2���@��� ����>�

%�	�7:��,��	[ ���2������� ��

%���������7:����	:C���	�7:C���'���

��������7:����	:C���	�7:��h���7:C���'����

���-�8 ��������*�,2�) �������	�������������	���������	�:2$��/�m�

�����
�����������������������)���C	����]�^F$��	���C��	�2��,��,��:2�������O�	�	�����*�	���C�,2�) �5�	

�:C����������,������� ��(���	���C��*��9���5�	�	����*��	���:C�	��!>�.����9�����!'	�:S�,�����*�,��������

:*�����!�?F$�

%��	�����&��������������������*��	���C�����5�	��%�	�X��������������m�

'�����������G���C�������������%���,��:2�����;���7:����	:C���	�����>���	���	� ��.�*�,2�) �5�	

�����������,��U���$������

(��������������������������	���C�,2�) �5�	����������,.��>�����7:����	:C���	���*�7:C���'���U���$��	

:C���	�G���C�U���$:2�����;�����	��
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b��,���save�������,62�) ���7��6�C��6�"�	���"6P	����6���Standard��Standardized �5�62W�*������6*�,62�) 

cooks���Leverage values��,�������Q�Hd����`�^�C	�	�continue��Hd��ok;�2�������"�(��

������,��7����`�^�C	�	����C	��	��?�Q��C	��	�I	:���*�5���@2�	����	���C�����	�%���,���	��)�Hd���7����!>�2�

������,���7����`�^�C	�	���-�����9��*:����C�!>�2���
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�:�G�<�f��7�5�2W�*���G:��,��7:��i��M���*��9�����7:����	����*��9��Q�G:��	:�$Q�����M�5���	��	�2�

4��(�:*�������FC	��G:��,��*��9���������	���7��8��	��� �

������*�7���N�,PgM��:���G�:�:*�������FC�	��G:��4�	���,��3�m��
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Variables Entered/Removed
b
 

Model Variables Entered 

Variables 

Removed Method 

1 
Life expectancy 

index
a
 

. Enter 

a. All requested variables entered.  

b. Dependent Variable: Total fertility rate-2000-05c 

 

Model R R Square 

Adjusted R 

Square 

Std. Error of 

the Estimate 

1 .796
a
 .634 .632 1.04404 

a. Predictors: (Constant), Life expectancy index 

b. Dependent Variable: Total fertility rate-2000-05c 
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• Modelm�G:����������	���G�r��5�	����,��:*�������FC�	��7:��!�?F$���*�G:���	:�$%�	( 

• Rm���������6*��9���,6���O��5�6��,6C� :2B��-�6./�*��	)6�����%�	�Z�����,C� :2B��-�./�*�0��1�,�
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ANOVA
b
 

Model 

Sum of 

Squares df Mean Square F Sig. 

1 Regression 321.304 1 321.304 294.766 .000
a
 

Residual 185.305 170 1.090   

Total 506.609 171    

a. Predictors: (Constant), Life expectancy index   
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Coefficients
a 

Model 

Unstandardized 

Coefficients 

Standardize

d 

Coefficients 

t Sig. B Std. Error Beta 

1 (Constant) 7.688 .273  28.152 .000 

Life expectancy 

index 
-6.621 .386 -.796 -17.169 .000 

a. Dependent Variable: Total fertility rate-

2000-05c 
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